J

~,

54791 54791
54791 — e=re= 51791

INFINITY QX INFINITY QX
Recommended Tools: Parts List / Hardware:
3/8 Wrench or Nut Driver ] Mesh Grille 2 6-32 x Y2 Machine Screw
10mm Wrench or Nut Driver 8 10-32 Flange Nuts 2 6-32 Nylon Lock Nuts
2 #10 Flat Washers 2 Plastic Tree Retainers

Read and understand instructions before attempting installation

Step 1

Open the hood to remove the factory grille. There are four 10mm nuts along the top and eight 10mm bolts
on the bottom and sides. Use a 10mm wrench to remove these fasteners, push the grille from behind to
remove.

Step 2

Thread the four flange nuts onto the upper mounting studs. These studs will be used fo adjust the position to
the hood on top. Slide the upper mounting studs into the factory mounting holes; center the grille into place.

Step 3

The lower mounting plate is installed onto the grille at the factory. Align the four holes in the lower mounting
plate to the factory holes in the hood. Use the plastic tree retainers to secure the two center holes. Secure
the outer holes with the small machine screws, nuts and #10 washers. Adjust the grille flush and tighten the
hardware.

Adjust the hardware on the upper mounting studs until the grille is aligned with the hood properly. Use the
remaining lock nuts to secure the upper mounting studs. Loosen the hardware and adjust the grille if
needed.

The factory logo is held on with double-sided tape. Use a heat gun or hair drier to heat the tape and pry
from the factory grille. Re-install on the new grille with new double-sided tape if desired.




